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\/ Interpretation rgb —> rgb* and CIELAB data of a 48 step elementary hue circle Interpretation rgb —> rgb* and CIELAB data of a 48 step elementary hue circle
o for a LECD low glossy cisplay with the luminance reflectiort=5% compared to the white reference for a LECD low glossy cisplay with the luminance reflectiort=20% compared to the white reference
=0 for a LECD low glossy display with the | flectiorl =5% d to the white refer (100%) for a LECD low glossy display with the | flectiorl,=20% d to the white refe (100%)
Step elementary hue cirle with huesa)C , 92.3, 162.2, 271.7, and . Step elementary hue cirle with huesa)C , 923, 1622, 271.7, and .
Og 48 ste {L tary ht le with huesRJIGB: hyy, o= 25.5, 92.3, 162.2, 271.7, and M’ 48 ste {L tary ht le with huesRJICGB: hyy, 5.5, 92.3, 162.2, 271.7, and M' = 217.0, 328.6
= ‘comparison with six device hue VM: hgp = 34.5,102.3, 133.6, 196.8, 302.4, ‘comparison with six device hueYL CVM: hgy o = 26.5, 104.5, 137.5, 197.4, 296.7, 325.4
50 9 step equidistant grey scalet* = 26.6, 35.2, 43.8, 52.4, 61.0, 69.6, 78.2, 86.8, 95.4. 9 step equidistant grey scalet* = 51.9, 57.4, 62.8, 68.2, 73.7, 79.1, 84.5,90.0, 95.4.
o= ||rm e a0 Cub haluae Tob > 190" e Uma hgo [L98%D% Clap hahiae 19D > 10bwa Uks g (L4850 Can Ml 1gb > 1gb*ya Ua wNalvze 10> 10
DL, |[ook 00 548 681 4 754 255 100000000000 COOD-C'2100 809 334 251 410 2170 000010001000 |10-R 300 653 448 213 496 255 10000000040 c 26 2170 00001000 100d
=35 2 366 546 666 446 801 338 100001250009 c'12b 0,000 0875 1.000 o366 677 35 256 464 336 100001250000 ci2 2238 0000075 1.000|
S ||z 3 TS0 H6 Ta4 /27 TH00200.000 c25h 0.0000.750 1.000] 25 439 701 325 294 438 422 100002500000 c25h 2307 0.0000.750 1.000)
S0 |[@  se w2 e s s 505 100003750000 cam 00006251000 |17 518 724 210 328 425 505 Loo003TS0.000 3 2375 00000625 1000
'O ||na a0 6o 32 co1 702 s 100005000000 €300 00501000 |5 800 747 718 1 432 508 100005000000 cB00 Fasa 000005001000
So || w2 ws 2 er 02 2 000ss0m0 cen 0003510 |z 682 770 165 383 426 672 100006250000 620 2612 00000375 1000
58 |75 71 7 e e ms s 100070000 e 000002501000 |75 761 796 111 432 446 756 Lo000TS00.000 75 2580 000002501000
2 [ 84 785 80 751 756 840 100008750000 cOTH 000001251000 |17 84 826 50 475 477 840 100008750000 coTb 2649 00000125 1000
O
O |[ioo=s 00 840 -32 817 BL8 923 100010000.000 bOOM 0.0000.000 1.000| [00g=) 900 860 -20 522 522 923 100010000.000 bOOM 2717 0.0000,000 1.000)
35 ||z s mo mrons mi i ossimoge an 01250000 100 b 906 913 117 bz o1a 1011 0ars so0gD pizw Z160 613 11 45D 454 2109 D100 10w
T || Tme vz e sistosroroTaadon vom 02500001000 |5 —TORT 0T 2TT STS 65 T IOOT 0T IO 0 bzem 2099 639 147 513 534 2060 025000001000
F2 || 1200865 25 522 1083 1273 050010000000 psom 050000001 jS0g 1200 889 421554 697 127.3 00010000000 BSON 000 SEI 53T 606 703 002 DSIIOT00La
C X ||z ses a7 727 Toro 1350 0378 o000 o0 DEAT—I8T T ES R0 TR TSI 0RO 6201282 71 544526 758 1350 037510000000 beam 3082 609 427 -559 704 07.3 062500001000
== 75 1361 852 -68.7 486 843 1447 025010000000 b75m' 316.1 498 728 -743 1041 314.4 0.7500.000 1.00C 75g 1361 87.1 524 371 643 144.7 0.25010000.000 b75m 3161 638 49.9 -509 714 314.4 0.7500.000 1.000)
(] i87g 1434 856 -628 314 703 1535 012510000000 b87m' _323.4 559 805 -639 1028 3215 0.8750.000 1.9« i87g 1434 875 -47.8 239 535 1535 0.1251.0000000 b87m' 3234 67.0 57.5 456 734 3215 08750.000 1.90|
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S |[aizc 1566 863 42105 553 1691 000010000125 miz 3366 560 807 363 885 W57 Lo00000STS|  |giZc 1566 881 414 B0 423 1691 DO0DL0000125 Ik 368 675 566 254 621 33T 1000000007
S ® 25 1639 866 52237 524 175 000010000250 m25r 3439 570 77.4 -238 BL0 3428 100000000.750) 25 1639 8.3 40229 404 1753 000010000250 m25r 3439 669 539 -166 564 3428 100000000.750)
v B GC 1718 869 497 -23 499 1828 000010000375 M3 ISLE 564 751 -132 762 499 7c 1718 8as 305 -18 36 1828 000010000375 M3 ISLE 665 519 91 527 3499 100000000675
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© 3 |[ome mErese o1 -172 435 2055 00001000750 m7sr 51552 703 140 7Ls 113 100000000250|  |g7h 1951676 313 134 312 2033 000010000750 m7s 761 657 474 94 483 113 100000000250
3% |[es7c 2034 832 -37.0 214 429 2101 000010000875 w3834 550 688 228 725 184 100000000125 g87c 2034 859 208 -166 334 2101 000010000875 maN 3634 655 461 153 486 194 100000000175
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o® Interpretation rgb —> rgb* and CIELAB Gata of a 48 step elementary hue circle Interpretation rgb —> rgb* and CIELAB Gata of a 48 step elementary hue circle
= = for a LECD low glossy display with the luminance reflectiorL,, =10% compared to the white reference (100%) for a LECD low glossy display with the luminance reflectiorl,, =40% compared to the white reference (100%)
>0 48 step elementary hue circle with huesRICB: hy, = 25.5, 92.3, 162.2, 271.7, and M' = 217.0, 328.6 48 step elementary hue circle with huesRICB: hy, = 25.5, 92.3, 162.2, 271.7, and M' = 217.0, 328.6
=3 ;: ‘comparison with six device hueYL “VM: hgy o = 30.5, 103.2, 135.3, 197.0, 300.0, 326.0 ‘comparison with six device hueYL CVM: hgy o = 23.2, 106.5, 139.9, 198.2, 293.2, 324.2
S 9 step equidistant grey scalet* = 37.9, 45.1, 52.2, 59.4, 66.6, 73.8, 81.0, 88.2, 95.4 9 step equidistant grey scalet* = 69.7, 72.9, 76.1, 79.3, 82.5, 85.8, 89.0, 92.2, 95.4.
=3 Uha b (L% b C*an, hatlwae 1gb > 1gb* g Wha Mgy [L% 8% 0% Ctab Natluiae 1gb ~> 1gb* e e g [L* @ b*, C* ap. hatle 1gb ~> rgb* iz Wya Mgy [La% D% Crab Natlvae 1gb > r9b*pa
=X fO0j=R_300 586 589 280 652 255 100000000030 c00b=C'2100 82.1 -308 -232 387 2170 0.000 1.000 1.000| 100jR 300 768 248 118 275 255 10000.0000.000 c00b=C'210.0 88.1 -17.2 -129 216 217.0 0.000 1.000 1.000|
WM ||T2 3¢ w90 =il 2 51 336 100001250000 c12b 2166 800 -27.2 -26.1 3.5 2238 0.0000.875 1000 M2 366 783 212 142 255 338 100001250000 c'l2b 2166 670 151 -145 211 2238 00000875 1000)
Ooo || 49 a3 452 409 s1o s22 100002500000 c2sb 2239 780 233 284 39 207 000007501000  |;25 499 797 180 163 243 22 100002500000 c25b 2239 859 -129 -157 205 2307 000007501000
= 137) 518 664 372 452 586 505 100003750000 c37b 2318 760 -203 -319 37.9 2375 0.0000.6251.000 137 518 810 150 183 237 505 100003750000 c37h 2318 848 -108 -17.2 205 2375 0.0000.6251.000|
S 50j  60.0 695 207 493 57.5 589 100005000000 c'50b 2400 74.0 -169 -35.3 392 244.4 0.0000.500 1.000) 50j 600 823 123 203 238 589 100005000000 c'50b 2400 838 9.1 -19.0 212 244.4 0.0000.500 1.000|
B2 |[wa es2 727 225 56 sai 672 Low0srs0000 cezp 2482 721 130 383 405 2512 00000ITSLoY |62 682 837 94 224 243 Gr2 100006250000 CG2b 2482 827 70 207 218 2512 0000037 L000
O ||7 761 761 150 582 601 756 100007500000 7S 2561 699 88 417 428 2580 000002501000  |175 761 851 63 246 253 756 100007500000 cTSh 2561 Lo -46 -222 228 2580 000002501000
QR || e w00 3 cse w0 100000 Ty 634 674 40 459 doz 2049 OWCOIBINN| | G4 s 28 213 21 0 LW00FE0N0 AL 2634 203 21 545 247 2049 00000128100
[ s00 sas 27 w0 523 100010000000 boom 299 500 2717 000000001000 [00G=) 900 888 -L1 00 523 100010000000 boom 266 267 2717 00000000 1000
5O |25 o5 1638 a2 1011 085 1000g0p0 bizm 555 563 2788 012500001000 120 966 920 -68 353 359 1011 08751000000 bl 2766 72 45 294 299 2788 012500001000
NS || = dbo b2sm 178 622 6ig 2860 02000001000 |25 = dbo 25 345 2660 025000001000
L| & || 1118803 w04 745 848 1185 062510000000 baTm 30, 766 2031 037500001 79 1118 924 191353 402 1185 062510000000 b3Tm 412 2931 037500001
o js0g 1200 873 542 713856 1273 050010000000 GEOW ST 300 7 DS00T00L0 js0 1200913 253 334 420 1273 050010000000 GEOW ST 307 030000 Lo
S o ||z iz 55 Ges 665 958 1360 037510000000 bizm 3082 507 555 915 307.3 06250000 1.000) f62g 1282 901 -325315 453 1350 037510000000 bozm' 3082 745 256 -335 422 3073 0.6250.000 1000
o X 775 1361 859 -630 446 773 1447 025010000000 b75m' 316.1 553 63.7 911 3144 0.750 0.000 1.000| 75g 1361 80.7 —34.1 242 419 144.7 0.25010000.000 b75m 3161 760 30.4 -310 435 3144 0.7500.000 1.000)
S |[e e ss2 srs2n7 a4 1595 012510000000 BTM 3234 603 718 o17 w15 0wrs0o01ggel |79 1434 900 309155 37 1535 012510000000 UM 3224 776 357 263 456 215 087500001000
@ == |[o00c-c 1500 866 -531 170 558 1622 000010000000 MOUMINO 627 759 462 889 3286 100000001000 406G 1500 902 266 82 302 1622 000010000000 MOO-MI0 780 367 223 430 8266 10000000 L000)
S70 |[azc 1566 869 49706 507 1691 00001000025 mix 3366 614 TL7 322 786 V57 100000000875 |gic 1566 04 27052 276 1651 000010000125 mix 3B 7.5 ML -153 34 357 100000000875
XN ||osc 1639 872 -48034 482 1759 000010000250 m25r 3439 60.6 685 -211 7L7 3428 10000.0000.750) 25 1639 905 26319 265 1759 000010000250 m25r 3439 77.2 323 -39 338 3428 100000000.750)
C 1718 675 458 -21 460 1828 000010000375 M3 I5LE 601 663 -1L7 673 M99 L00000000ES|  [gIc 1718907 253-11 255 1828 0O0LO003S MA LS 770 09 54 313 3499 100000000625
G50c 1800 678 430 72 437 1856 000010000500 MSDr 596 644 32 614 370 100000000500 |g50c 1600 08 240 40 244 1896 00010000500 MSOr 3600 768 206 14 267 370 100000000500
g2c 1852 g1 397 -1l6 415 1064 00010000625 mE2 3682 593 628 46 630 42 100000000375 g2c 1852 010 204 -65 234 1964 000010000625 mE2 3682 766 266 21 286 42 100000000375
G5 T061 862 371 150 405 2033 0000LO000750 m7s G761 590 615 122 627 113 100000000250 G756 1061 502 208 -89 227 2033 0001000050 TS ST61 765 276 55 281 113 10000.0000250)
g87c 2034 541 341 -198 396 2101 000010000875 man 3634 588 601 200 633 184 10000000025 g87c 2034 891 -191 -110 222 2101 000010000875 man 3634 764 266 88 280 14 100000000125)
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TUB-test chart KE81; 48 step LECD elementary hue circle input: rgb->rgb* setrgbcolor
: = © .
g Interpretatiorrgb —> rgb and CIELAB data of colours Ma output:no change compared to input
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